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ENGLISH VERSION

Instructions : (1) Write answers of all questions in main
answer sheet.

(2) Figures of right side indicate marks.

1 MCQs. 20
(1)  Which of the following is part of disinvestment ?
(A) Privatization (B) Nationalization
(C) Liberlization (D) All of these
(2) The Traditional objective of firm ?
(A) Profit (B) Production
(C) Investment (D) None of above

(3) Which of the following limitation of public enterprise in
India ?

(A) Political interference

(B) Lack of efficient management
(C) Bureaucracy

(D) All of these

(4) Which of the following social benefit of public sector in
India ?

(A) Established of socialistic society
(B) Employment opportunities

(C) Protection of consumer

(D) All of these

(5) Which of the following problem of sick industries ?
(A) Problem of technology  (B) Problems of investment
(C) Foreign competition (D) All of these
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(6) Which of the following factor responsible of causes of
shortage of industrial finance in India ?

(A) Low saving (B) Burden of tax
(C) Both (D) None

(7)  Which factor is responsible for pollution ?
(A) Deforestation (B) Urbanization
(C) Industrialization D) Al

(8) Which of the following industries of public sector ?
(A) Cotton corporati on of India
(B) Food corporation of India
(C) Fertilizer corporation of India
(D) All of these

(9) Which of the following importance of industrial sector in
India ?

(A) Agriculture development (B) Income creation
(C) Both (D) None of these

(10) Which of the following included in process of
privatization ?

(A) Total denationalization (B) Holding company
(C) Leasing (D) All of these

(11) Which of the following objective of industrial policy ?
(A) Industrial development (B) Employment
(C) Both (D) None

(12) Which of the following Apex organization of industrial
finance of India ?

(A) RBI B) SBI
(C) IDBI D) ICICI
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(13) Which of the following affecting factor of industrial
productivity ?

(A) Technological (B) Financial
(C) Natural (D) All of these
(14) Which of the following included Large scale industries of
India ?
(A) Cotton textiles (B) Iron and steel
(C) Cement (D) All of these
(15) Which of the following objectives included in objective of
firm ?
(A) Maximum profit (B) Maximum sales
(C) Security O Al

(16) Which of the following included in Industrial Finance ?
(A) Public deposits
(B) Commercial Banks
(C) Special finance institution
(D) All of these
(17) When IFCI was established ?
A 1930 B) 1950
©) 1991 D) 1948
(18) When IDBI was established ?
(A 1964 B) 1954

©) 1994 (D) None of these
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(19) Which of the following included in new industrial policy ?

(A) Liberalization (B) Privatization
(C) Globalization D) Al

(20) Which of the following year started a new industrial
policy ?
A4) 1991 B) 2000
©) 1981 O®) 1970

Write note : IDBI.
OR

Write note : Industries and Pollution.

What is industrial finance ? Explain its importance.
OR

Explain the various sources of industrial finance.

Explain the problems of sick industries of India.

OR
Explain the causes of Low Productivity of industrial sector in
India.

Discuss the new industrial policy 1991.
OR

Explain the process of Privatization in India.

Explain the various objectives of firm.
OR

Explain the importance of industries in Indian economy.
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